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Ql Figrre Ql shows a truss of .esidential house support by pinned at A and roller at C. 20 kN
horizontal point load is applied at point F and 20_kN vertical point load is applied atjoint E

and D- Civen A = 500 mm'? and E = 200 kN/mm2 for all members.

a) Classily the truss

(2 marks)

b) Determine the reaction at A and C.

(3 marks)

c) Calculate all intemal forc€ oftruss

(5 marks)

d) Calculate the venical displac€ment atjoint B

( l5 marks)

Q2 A truss as sho\rn in Figure Q2 is suppotted with roller at C, D and F, and subjected to
point load at A and B. The modulus of elasticity (E) and cross-section area of each

member are given in Table Q2. Ifthe memb€r BF are assuming redundant,

(a) Classiry the tsuss structure.

(2 marks)

(b) Determine the intemal forces ofeach memb€r.

(23 marks)

Table Q2

Member
ttNl"mm'zl

Area
{mm2)

Member (E) -(kN/mm')
Arca

(mm2)

AD 250 300 BF 200 250

AB 250 400 CE 200 250

AE 200 250 CF 250 300

BD 200 250 DE 250 400

BC 2s0 400 EF 250 400
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Q3 Truss structure in Figure Q3 is supported by fixed end at A, C, D and E. Using Moment
Distribution Method :

(a) Determine the distribution factor

(8 marks)

(b) Calculate the Fixed End Moment

(4 marks)

(c) Calculate the end moment at support A, C, D and E

(7 marks)

(d) Determine lhe reaction at the suppon

(6 marks)

Q4 (a) Describe briefly THREE (3) Muller-Breslau's principles of influence line for
reaction force, shear and b€nding moment at the particular point ofdeterminate tteam

du€ to vertical force.

(3 marksl

(b) Consider the Pmtt bridge truss shown in Figure Q4(a) with a unit load moves from

left to right. Draw th€ influence lines for the vertical rcactions at support A and E as

well as for the axial forces in members CD and DK.

( l4 marks)

(c) If an object as illustrated in Figure Q4(b) moves with velocity of l5m/s that has

kinetic energy equalto 37500kJ. Determine the maximum axial force in member CD

and dmw the possible positions of the loadings. Assume that the kinetic energy is

€qual to one half the mass ofthe body times the square of its speed.

(8 marks)



Q5
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(a) Sketch possible collapse mechanism for the three-span continuous beam in Figure
Qs(a).

(5 marks)

(b) A continuous steel b€am as shown in Figure Q5(b) is fixed at support A and roller
support located at joint B and C. Joint C is real plastic hinge, where Mp = 0. The
beam is subjected to three point loads of20 kN. Determine the plastic moment ofthe
b€am, including the failure mode.

(20 marks)

Describe FtvE (5) classifications of instability that probably bappen within the
elastic range of l-shape steel column ifthe eccentric load acts on the top structure.

(5 marks)

A rigid jointed sleel frarne ABC carry a transfer load from unstable beam BD as

shown in Figure Q6. The beam is supponed by roller at the both ends that produce

elastic instability to the liame. The Young's modulus ofsteel is 2locPa

i) Formulale the conditions of stable, unstable and critical for the llame structure.

(2 marks)

ii) Calculate the strength mtio and instability criterion of the frame ABC. Members

AB and Bc have square dim€nsion with size ll0mm x llomm and

l00mm x l00mm rcspectively
(12 marks)

iii) Detemine the critical load that can be hold by the ftame ABC if the uniform load

from bearn BD is transfened simultaneously to its beneath structures. Conside.

SIX (6) triafs only with p = 0,1.0,2.0,2.20,2.36 attd2 40.
(o marks)

-END OF QUESTION-

Q6 (a)

(d)
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Sl Raiah Ql menunjukkan kekuda sebuah rumah kediaman yang mempunyai sokong pin di A
dan rola di C. Beban titik utuk 20 kN dikenakan di F dan beban titik tesak 20 Kn dikenakan
di E dan D. Dib€ri A = 500 mm'? dan E = 200 Kn/mm2 untuk semua anlgota.

G) Kelaskan kekuda ters€but

(2 rnarkah)

(b) Tentukan tindakbalas pada sokong

(3 markah)

(c) Kirakan daya dalaman semua anggota kekuda tersebut

(5 markah)

(d) Kinkan anjakan tegak dititik B

(15 markah)

52 Struktur kekuda seperti di Rajrh Q2 disokong dengan penyokong rola di C, D dan F, dan
dikenakan daya titik pada A dan B. Modulus elasticify(E) dan sritefi rentas untuk setiap
anggota sepertididalam Jidtral Q2. Jika anggota BF dianggap lebihan,

(a) Kelaskan struktur kekuda ters€but.

(2 markah)

(b) Kira daya dalarnan s€tiap anggota.

(23 markah)

Jadual Q2

Anggota (E) 
"(Knhm')

Luas
(mm2)

Anggota (E)
(Kn/mm2)

Luas
(mm2)

AD 250 300 BF 200 250
AB 250 400 CE 200 250
AE 200 250 CF 250 300
BD 200 250 DE 250 400
BC 250 400 EF 250 400
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33 Struktur kekuda di dalam Rrjrh Q3 di sokong oleh hujung terikat pada A, C, D dan E.
Menggunakan kaedah agihan momer\

(a) Tentukan faktor agihan

(8 markah)

(b) Kirakan momen hujung t€rikat

(4 ma.kah)

(c) Kirakan momen akhir pada sokong A, C, D dan E

(7 markah)

(d) Tentukan tindakbalas pada sokong

(6 markah)

54 (a) Huraikan s€cara ringkas TIGA (3) prinsiPprinsip Muller-Breslau bagi garis imbas

daya tidakbalaf daya ricih dan momen lentut pada satu-satu lokasi rasuk boleh tentu

yang disebabkan oleh daya menegak.

(3 markah l

(c) Pertimbangkan kerangka jambatan jenis Pratt seperti yang ditunjukkan dalam Rrj.h
Q5(a) dengan satu unit daya berge€k dari kiri ke kanan. Lukiskan garis pengaruh

bagi tindakbalas menegak pada p€nyokong A dan E, juga bagi daya paksi di dalam

anggota CD dan DK.

(l4 markah)

(d) Seki.anya satu objek s€perti yang digambarlon dalam Rljah Q5(b) berge.ak

dengan kelajuan l5m/s yang mempunyai tenaga 6riteri bersamaan 37500Kj.

Tentukan daya paksi maksimum bagi anggota CD dan lukiskan kebarangkalian

kedudukan daya. Anggap tenaga 6riteri adalah bersamaan dengan separuh jisim

objek didamb dengan kuasa dua kelajuan objek tersebut.

(8 markah)



(a)

(b)
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Lukis mekanisme runtuhan untuk tiga rentang rasuk s€p€rti di Rajah Q5(r).

(5 markah)

Raj.h Qs(b) menunjukkan rasuk keluli yang dikekang di A da. disokong dengan
penyokong beroda di B dan C. Penyokong di C menJpakrr 'real hinge ' dimana Mp =
0. Terdapat tiga b€ban titik s€banyak 20 Kn dikenakan keatas msuk tersebut. Ki.akan
momen plastic bagi rasuk teBebul juga dapatkan mod kegagalan.

(20 markah)

Humikan LIMA (5) klasifikasi ketidakstabilan yang mungin b€rlaku dalam
lingkungan Trite.i bagi tiang keluli berbentukl sekiranya beban sisi bertindak di

bahagian atas struktur berkenaan.

(5 markah)

Satu kerangka keluli ABc yang b€rsambung seqrm tegar membawa b€ban agihan

daripada rasuk BD yang tidak stabil s€pertiyang ditujukkan dalam Rajrh Q6. Rasuk

terseblrt disokong secan roller pada kedua{ua hujung yang menyebabkan

ketidakstabilan elastik terhadap kerangka ters€but. Elastik modulus bagi keluli
adalah 2 | 0Gpa

i) Rumuskan keadaan-k€daan stabil, tidak stabil dan kritikal bagi struktllr

kerangka tersebut 
(2 markah)

ii) Kira nisbah kekuatan dan Kriteria ketidakstabilan kerangka ABC. Anggota AB
dan BC mempunyai dimensi segi empat tepa! masing-masing bersaiz

ll.mm x ll'mmdar l.omm x l00mm' 
.2 markah)

iii) Tentukan b€ban kritikal yang boleh ditanggung oleh kerangka AB sekiranya

beban s€ragam daripada msuk BD diagihkan secam s€rcntak kepada struktur

dibawahnya- Pertimbangkan f,NAM(6) kali p€rcubaan sahaja dengan p = 0 ' 1.0,

2 0'2'20'236 dan 2 40 
(6 markah)

-SOALAN TAMAT-

s6 (4.,

(b)
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Velocity = l5m/s
Energ:37500kJ
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Uniform load, W kN/n
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APPENDIX

Equation:

k= /' mv2

Trblc 1: Fired Etrd mopetrt
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